. @ndthe characteristic roots of the matrix A =| 0
Ek ]
0

L2
s

"

!“ j_.-.:'-_ '!ilfﬁ. State the Cayley-Hamilton Theorem.
$ _

. 7. If p[3 2 0]and [-2, 4 0] are in equilibrium, find p.

Find the gradient of the scalar function f(x, 5 2)=xyz.
Tllustrate commutativity of vector addition with an example.
ne a simply connected domain.
‘Green’s theorem in the plane.
7 a wamatnc representation of the sphere.
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17. Using Cayley-Hamilton theorem, find A? if A=
. it t ‘

R _"A_123 : L
-18. E‘mdtherankof. Vel g B _

E . , 0) in the direction of [1,
19. Find a parametric representation of the straight line through (4, 2, 0) |
: 3
YAl 0]
20. Find a tangent vector and unit tangent vector for ” (?) [t, ¢ ]
21 Show that the form under the integral sign is exact :

J‘ex—y+2’ (dx -dy +22 dz).

22 Give the stanciard form of the Bernoulli equation with a suitable example.
i

23 Usmg Green s theorem,
; 2
Find qurl of [%’ %,'—xy/z ]

find the area enclosed by the ellipse :

X 5 ' . . 3 l >

ik L TR B delre - ‘ e
R i - . o T . Sl M4 = b
SR . R e Ty al . 5oy
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a jﬁ-l-2y+3z =0,
. 2x+y+32=0
ks -?4 3x+2y+2=0.

2 -1 1
A Ve!'ify Cayley-Hamilton theorem for A — -1 2 4
pﬂr e 1~ -1 g

. | Mthe length of the vector F(t) =[t,cosht,0] fromt=0tot=1.

. _'q {i) Prove that curl (grad f)=0 for any twice differentiable scalar function
"@ Prove that div (curl 5) =0 for any vector .

(f‘

Scanned with CamScanner



Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




